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2.1 HaskellO OO OO
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member x [] = False;
member x (y:ys) x==y || member x ys;

subset xs ys = all (\ x -> member x ys) Xxs;

00000 member d subset U 0O OO0 Omember 5 [1, 4, 7]0000 [Integer]00O0O0OO0
000000000 0Omember "Kagawa" ["Tokushima", "Ehime", "Kochi"] OO OO [String]
0000000000000 000000000000dmember (\ x -> x-1) [\ x > x+1, \ x
>x2]000000000000000O00O0000000
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member :: ;

subset :: ;
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class Eq a where {

(=), (/=) :: a -> a -> Bool;
a /=b =not (a == b)

};

U000 ab00000 Egbdb0bdbddba>a > BoolOJODOODODOO20000 (==,
(/0000000000000 D000DO0O00D00OIntegerJ0 EqUOODOOODO Integer

0 EqO 000000000000 DDOO0Oinstance 000 0OOO0OOOODOO
instance Eq Integer where {
(=) = primEgInteger;

};

000 primEgqInteger 0 Integer -> Integer -> Bool U OO OOOOOOOOOOODOOOO
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instance Eq Double where {
(==) = primEgDouble;
b
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instance Eq a => Eq (Tree a) where {
Empty == Empty
Branch 11 nl rl1 == Branch 12 n2 r2

True;
11 == 12 && nl == n2 && rl1 == r2;

}s;

“Eq a =>"0000 Tree a0UO00O0O0OO0OO0ODLO0ODOODODODODOO abbbOobObOoDOODO
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2.3 Dictionary-Passing Style [] [J
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type Eq’ a = ;
eq’ :: Eq°’ a -> (a -> a -> Bool);

eq’ = ; -- (==0000a

ne’ :: Eq’ a -> (a -> a -> Bool);

ne’ = ; -- (/200000

U0 Eq’ al0O00O0O0O0OD0OODODOOOO 0 method dictionaryd 0 O O O 0O O

0Jo00dooooooooo0ooooooooooooooodooooon
eqIntegerDic :: Eq’ Integer;
eqIntegerDic = (primEqInteger, \ a b -> not (primEgInteger a b));

egDoubleDic :: Eq’ Double;
egDoubleDic = (primEgDouble, \ a b -> not (primEqDouble a b));

goooooob ... ==00db0boobboobboobooobboobooobooobobo
gobgdboogbboggoodgbogobggbogbbgobdadaon

member’ :: ;
member’ d x [] = False;
member’ d x (y:ys) = eq’ d x y || member’ d x ys;

subset’ :: ;
subset’ d xs ys = all (\ x -> member’ d x ys) xs;
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member 4 [2, 5, 8] — member’ 4 [2, 5,8]
subset [0.0, 1.0] [1.0, 2.0] +~ subset’ [0.0, 1.0] [1.0, 2.0]

UO0D0000D0UO0OO Dictionary-Passing Style 0 D00 Haskel D OO 0O0O0OOODOOOODOOO
oooboodoboOo0o0ooooboboooboOooOo0oDbboO00obboooooDoooboDoOooo
00000000000000000000000000000'0000000000000000
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0231 000000000000 lookup:
data Maybe a = Just a | Nothing;

lookup :: Eq a => a -> [(a, b)] -> Maybe b;
lookup x ((n,v):rest) = if n==x then Just v else lookup x rest;
lookup x [] Nothing;

O DPSO0OOOO lookupD:
lookupD :: Eq’ a -> a -> [(a, b)] -> Maybe b

gooobgo
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EqUO00000000000000000rd, Show, NumO OO OO0

class Eq a => Ord a where {
<, (=), =), ) :: a -> a -> Bool;
max, min it a->a ->a ;
b
class Show a where {
show :: a -> String;
b
class (Eq a, Show a) => Num a where {
), =), (™ i a ->a -> a;
fromInteger :: Integer -> a;
3
class Num a => Fractional a where {
2] i a ->a -> a;
};
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Show,Eq,Ord 0 0000000000000 DOOOOO0OOOOOOOOOODOODOOODOOOO
U00000derivingDOOOOOD0OO0O0O0O0O0O0O0O0OOHaskelDOODOOOOOOOOOOODO

0000000000000 000000000000000000000
data Tree a = Branch (Tree a) a (Tree a) | Empty deriving (Eq, Ord, Show)
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data MyList a = MyCons a (MyList a) | MyNil I
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